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ENGLISH -(M:M:20 MARKS)
Q. 1 Read the following passage and answers the questions that follow. 5

Dry fruits are useful in various diseases of the brain, muscles and tissues. Particularly almond
has got unique properties to remove brain weakness and strengthen it. Almond preserves the
vitality of the brain, strengthens the muscles, destroys diseases originating from nervous and
bilious disorders.

Walnut is another dry fruit that possesses wonderful qualities of curing brain weakness.

According to Dr. Johnson, almonds, figs, grapes, dates, apples, and oranges are rich in
phosphoric element and should normally be used by brain workers. Phosphorus nourishes the
vital tissues of the body. It keeps the mind full of enthusiasm for more work.

Choose the correct answer.

1. Dry fruits are useful because they
(a) strengthen our heart
(b) cure various diseases of the brain, muscles and tissues
(c) give confidence to us
(d) empower us to do challenging tasks.
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2. Which one is not a property of almond?
(a) It preserves the vitality of the brain
(b) it strengthens the muscles
(c) It destroys diseases originating from nervous and bilious disorders
(d) It strengthens our digestive system.
3. Phosphoric element is profusely found in
(a) almonds, figs, grapes, dates, apples and oranges
(b) almonds, figs, papayas, guavas and pineapples
(c) all the green vegetables
(d) seasonal fruits.
4. Brain workers should take fruits rich in phosphoric element because
(a) they remove brain weakness
(b) they nourish the vital tissues of the body
(c) they keep the mind full of enthusiasm
(d) all the above.
5. The word unique means the same as
(a) Ordinary
(b) Highly qualified
(c) Unusual
(d) Enlightened

——— —
— — — — o~ — p—
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Q.2. Fill in the blanks with suitable word from the options- 2

1) Ramesh Playing cricket yesterday.
a) Being (
b) Was | - (
c) Is g
d) Be (

2) How You to celebrate your birthday this year?
a) Does/ go (
b) Do/ go ' (
c) Is/ going (
d) Are/ going (

Q.3 Fill in the blanks with suitable words from the options. 2

1) India has done much for world
a) Piece
b) Pease
c) Peace
d) None

— — — g—
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2) Bread is made of
a) Floor
b) Flour
c) Cucumber
d) None

e St Vot St

Q. 4 Change into negative- (any Three) 3
1. Ram is playing cricket. Ans. ....ccccrveerunnne.
SHEEMA IS CODRINB IO IIIE. i s o e boramm s srr s et bt e

72
s He is washing Girty Clothies. AANS.. ...ttt st sl
4.

B S S, NI st i BN i B e e p e N 2 o P B e

Q.5. Fill in the blanks with suitable Prepositions from options- 2

1. | called her yesterday.
a) On ( '
b) At (
c) To (
d) None  (

i S S

2. Heis blind . the right eye.
a) By
b) At
c) In
d) None

— — p— p—
T Tt Nt

3. |listened what she said.
a) To (
b) At (
(

(

c) On
d) None

e R —

4. Heis guilty . theft.
a) For (

b) Of (
(

(

c) To
d) None

— S S



Q.6. Fill in the blanks with a, an or some: ' 6

s P KBRUE I8 s ool st sisinibvisecismmsres LR C 1LY

e N e e R T IO

3. AMar has t0 do ..o esenes. WOTK in the evening.

4. | am l00KINgG fOr ..vcimiiniiniicinn i s s, @aCCOMModation these days.
5. She is dOINE ..ccceiirireisieeinenninassssssesnessssmnensaeneeenn s INTErESting experiment.

6. The second shop had ..........ccccoeercennirecinnanenen.. fUrNiture for sale.

SECTION:B

Subject- Maths
- 1x5=5 Marks
LN B ionsisiomst sissriorcke st bossnseresinlsnmersdsima emmsasimarennans TRINCEE O Ehousand,

2-The smallest COMPOSIE RINMMDEE IS ... ciiiininimisshsmanismsbmmsimnestib i

3-Write the natural numbers from 2 to 12. What fraction of them are prime numbers?
4-An athlete takes 10 rounds of a rectangular park, 50 m long and 25 m wide. Find the
total distance covered by him.

5-Fill in the missing numbers :

E,D_ﬁ
E

Ans.......

(2x5=10 Marks)
6-The school canteen charges Rs 20 for lunch and Rs 4 for milk for each day. How much money

do you spend in 5 days on these things?

G mr s et e U S T (e T AR a e E R s b D e RO TN Rt
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7-Write four negative integers greater than — 20.

Ans- L T T T assanennn L L T L L Lt T T L T e ——
SEsssEsarsEaNRE RES E R T T T b L T e A AP
------- e O o e B B s s O BT s s s o o N ST aaN N e NEaN S N R e S NS s NN essana aasaas sad e sR e e s R aaNaaasns s aessessne
sassssssnsRRRRE RS O sl T T O e r o a s el m s B T s Ay A o dE s b B a O a0 NN aas Aas e RO N Ve N NN s sata Neanas Sas $0ENe b adanannsant asnans dun

8-Nasreen bought 3 m 20 cm cloth for her shirt and 2 m 5 cm cloth for her trouser. Find the
total length of cloth bought by her.

Ans- e L R T T R T T L TR LRI L L PP A T T LTy
B e T L LTI
b L T T T L L L L T T T or— srssmenaun nun

-------- b L R LR L LR L L E R L e L LR L Ll LI L LE R T L LR LR L T T T T P T rLrnrrrrrrrTrrryrrr™

9-Give expressions in the following cases.( y is multiplied by 5 and the result is subtracted from

16)

Ans- e T e T L I mm
e L L L L L L L L L LR
CLLE PR T L L L L gy

L T T R e T T T L T T T T T T T

10-Are 30, 40, 45 and 60 in proportion?

B A AR R R R R R R R R R e B I S SRR AR RN SRS AN RN AR RS TR RE RS R RE SR BRE
e e T e T T LTIty

L T e e T T T e T T T LT T T



(3x5=15 Marks)

11-Find the difference between the greatest and the least num ber that

g can be written using
the digits 6, 2, 7,4, 3 each only once.
A i e bt i R A B e

AL L T T T T
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14-Compare 5/6 and 13/15.

--------------------------------------------------------------------------------------------------------------------

---------------------------------------------------------------------------------------------------

-------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------------------------------------

15-The area of a rectangular piece of cardboard is 36 sq cm and its length is 9 cm. What is the
width of the cardboard?

-------------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------------------------------------

----------------------------------------------------------------------------------------------------------------------------------------------------------------

------------------------------------------------------------------------------------------------------------------------------------------------------------------

SCIENCE
(MCQ QUESTIONS-1 MARK EACH)
(Tick the correct option)
1-Which part of a mustard plant is edible?

(a) Seeds and flowers () (b) Leaves and flowers ()
(c) Seeds and leaves ) (c_!) Stem and roots ()

Page 1 0



- 7- Sl unit of length is

2-Separation of fibres of cotton from its seeds js known as

(a) Weaving () (b) Spinning A
(c) Knitting ( _ ) (d) Ginning : [ 3}
3-The process of conversion of water vapours into liquid is called

(a) Condensation { ) (b) Decantation ()
(c) Sedimentation .53 (d) Evaporation { )
4-Which is not g part of a leaf? |

(a) Petiole c) (b) Lamina o
(c) Veins £-3 (d) Nodes o8

5-Knee joints are

(a) Hinge joints fed) (b)BaIlandsocketjoints( )

(c) Pivotal joints o) (d) Fixed joints ()
(1 MARK EACH)
Fill in the blank

6- Soil, water and air are N e e T s COMPpPoONents of a habitat.

........................................................................

8- The objects through which we cannot see clearly are called
9- A substance which allows electricity to pass through it is called.............

10- Boiling point of water is......................__ i G

(2 MARKS EACH)
11-How many types of joints are there in our body? Name them.

----------------------------------------------------------------------------------------------------------------------------------------------------------------

---------------------------------------------------------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------------------------
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12- Define omnivores? Give example.

Ans« L L L T T N T T T R T T I T S,

L L L T T L R L L R eI L T T LT
e e L L L L L T TR T N L I ITT EESSsAERsRSRERRR N
S L T ST L L L L] BERsERAAN Rss NS RES b L e L T T R LT T R T T T -

N o T R A NN RN R NN AR AR RS IR RR R ERR A EdasEEEsEN I NS BEE EEE

e L T T R L T I T T T L N T T R IRTIrTTr]

13- What is winnowing? Where is it used?

Ansn--uanlulun-n-n--u O T T Ty L LTI R T T T SuswEndrRTaTEERE RS S T T R TP TR T T I T L]

------ O N N A R R R A TR NN R N IR S NN B R R AR B IR F e R e N A AR SR NS I N E s e Ssn SRS N IS SRS RN AN NN R SRR AN ENS SN AN A AN FRE B Se RN N aan S
AR RN TR AR PER N AR AR SEsssERRANFI SR ARN AR RNA NSRS T LR T TR TRl L] LR T T TR I

L T R LT mm Eesamanw

14-State difference between a luminous and a non-luminous body.

Ans ---------- Sesssensssssensin snasnnsnnsansbesnsnnsvanen aswnss nEsansan T T T T TR T T T FERNNERSI AN SRS ANR AN RIRREE RS

L L T T T AP sassssssnman e
L R L LR L L

L e e T T P P T T T T T T TP T I LI
L L T T T T R Ll

15- What is the function of stem in plants?

Ans". L T L L T e e L L

L L L L L TR L LT R ]

L T T LT T T T T T e T T LT R T LTI R T R eIy ]



SECTION:C

Mental Ability and Reasoning Test
Tick the correct option of the followings:-
Q.1. If the first two statements are true, the third statement is:
I. Tanya is older than Eric.
II. Cliff is older than Tanya.
lI. Eric is older than CIliff.

A.True ( )
B. False ( )
C. Uncertain ( )
D. None ( )

Q.2. A is two years older than B who is twice as old as C. If the total of the ages of A, Band C is
27, then how old is B?

A.7 ( )
B.8 ( )
C.9 ( )
D. 10 ( )

Q.3. A and B are brothers. C and D are sisters. A's son is D's brother. How is B related to C?

- A. Father ( )
B. Brother ( )
C. Uncle ( )
D. Grandfather  ( )
Q.4.Find the next term of this sequence 11, 13,17, 19, 23, __.
(A) 25 ( )
(B) 27 ( )
(C)29 ( i
(D) 31 ( )
Q.5. The eighth term in the series 2,6, 18,54, ___is
(A) 4372 ( )
(B) 4374 ( )
(C) 7343 ( )
(D) 7434 ( )

" Page 1 3
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Q.6. What will come at the place of question mark? 1, 9, 25, 49, ?, 121.

A. 100 ( )
B.91 ( )
C.64 ( )
D. 81 ( )

Q.7. A man walks 1 km to East and then he turns to South and walks 5 km. Again he turns to
East and walks 2 km. After this he turns to North and walks 9 km. Now, how far is he from his
starting point?
A.3 km

B.4 km
C.5km

D. 7 km

— — p— p—
— g

Q.8.Arrange the words given below in a meaningful sequence.
1.Key 2.Door 3.Lock4. Room5. Switch on
A. 51,243 ( )

( )
( )
( )

Q.9.What will come at the place of ‘' ?
Insect : Disease :: War: ?
A. Army (
B. Defeat (
C. Arsenal (
D. Destruction (
Q.10.25% of ?2=150
(A) 250 (
(B) 520 (

(

(

g e

(C) 600
D) 750
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